EARAROBEEIERT — 2 N— IBISH —F

201612848 (H) 17E{£Z6H

mjj hL7E C2 #5%R3%L ESRE R
[AE£] 1% :140,000 M  23#&:32,000”  33%&:13,000 ™  43%&:7,000H ~ 53%&:4,000H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
— . AIER : —6-5- — neE (K8)
: NEST ISt i 3 a% 1.(3_1).1 7-6-5-2 | 39.0 1 (4_232) T?E%EE 5
T4 =TZhA BNAN=Fya KEZXTA TV
— - P 2. 56 2| — FHBT (153
ol1l1|x=Fnk—7 3 5%.0 1(311)3 5-5-6-5 | 39.2 2 (4+639) Fhe i
X9 T—RNVZXIT—h B2/ 95Uy Y A #a
N KIEHFER : 00— — =/ EEAN (ER)
307 7 JIN=F iy "7 56.0 1'(32])'7 zezd 40 s (423) ‘}E.I;E\ﬁﬁ’a .
R:2¥v> B:x)IHLH— Eloke]
N AEE—ER . a4 — ekt (1£8)
alglg|py/=1enT i 3 sl 1.(311).9 3-3-4-4 | 40.2 4 <4+331) P
X7 T—R VXTI T—F BHFAY-TI2-X ax #
- s H il :32. ~7-7- . — AHE—K (£H)
5 S| TT7FIUYR o6 o 1(342)7 6-7-7-6 | 40.3 3 :1:522) e "
K274 d—IV K B:VvI74—XO—2X HE77—»4L
= La =t REE_ :32. -1-1- X = FlEE (1£H)
N | BEELPELEE 4% | T T e
L:Jr7—3UT7> B:o4llT73I=3rX FRESS
=55 4 6 | mAER 1:33.5 4-4-3-7 |41.8| — 6 470 | BEAREBE (£H)
7 6| FT7771 54.0 3 () | (B J P N
LA TAT v — BTUHFNIT—ILR E&4%5
= “ 6 | AMALZ 1:36.9 8-8-8-8 |43.1| — 5 442 | RIES (£8)
8l5/5|771v b7 54.0 (214) (+15) | BAHER
L:xrdn40— B:YAILKITAIL FRE%RS
® I —F—@EBIERL
13=zr= 4,7,8,6,1,2,3,5
Aol=5r= 4,7,8,6,1,3,2,5
G§a=7r= 4,7,6,8,3,1,2,5
41—+ — 4,3,7,8,1,2,6,5
[ RN
B OB 3 210M 714K 1-3 320M B E 1-3 510M &R 1-3-7 2,580
8 B 3 100M 3-7 900M B H 3-1 870M JEH 3-1-7 8,650
1 1004 1-7 980M
7 210M

ABICOVWTRDTEEERROODE. TR LIV,




